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POLITICAL SCIENCE — HONOURS

Paper : CC-10

(Western Political Thought and Theory I)

(Modules I & II)

Full Marks : 65
Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

1. Answer the following questions (each in a single sentence) : 1×15

(a) Name one book written by Plato.

(b) What is ‘Polis’?

(c) ‘Man is a political animal’. Whose statement is it?

(d) Mention one feature of Communism in Plato’s thought.

(e) Who identified democracy with ‘mobocracy’?

(f) Who said ‘Without the State Man cannot realize his destiny’?

(g) Mention one Stoic philosopher in ancient Roman political thought.

(h) Name one Roman philosopher who formulated the idea of natural law.

(i) Who wrote ‘City of God’?

(j) Mention one major feature of the Mediaeval political thought.

(k) Name a book written by Bodin.

(l) Who wrote ‘Leviathan’?

(m) What are the natural rights mentioned by Locke?

(n) Mention one book written by Rousseau.

(o) Who propagated the idea of Limited Government?
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Module - 1

2. Answer any one question (within 100 words) : 10×1
(a) Write a short note on Aristotle’s views on constitutions.
(b) Discuss the contributions of the Romans to the idea of citizenship.

3. Answer any one question (within 500 words) : 15×1
(a) Critically discuss Plato’s theory of Justice.
(b) Discuss Machiavelli’s contribution to the theory of State.

Module - 2

4. Answer any one question (within 100 words) : 10×1
(a) Can Hobbes be recognized as an exponent of materialist politics? Argue your case.
(b) Discuss the idea of Popular Sovereignty in Rousseau’s thought.

5. Answer any one question (within 500 words) : 15×1
(a) Explain the significance of Bodin’s views in the theory of Sovereignty.
(b) Can Locke be regarded as the founder of Liberalism? Give reasons for your answer.


